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[...] 
to setup 
  ca 
  no-display 
  set total-agentes (Altruistas + Altruista-fraco + egoista + egoista-
fraco + racional) 
  set-default-shape turtles "square" 
  create-agentes Altruistas   
  [    
    set r-maximo   100 
    set s-minimo   51 
    set r-proposto ((random 24)+ 75) 
    set s-esperado ((random 21)+ 30) 
    set r-efetivo  ((random 20)+ 80) 
    set a-graticacao (random 50) 
    set b-gratidao (random 50) 
    set c-remorso (random 50) 
    set d-raiva (random 50) 
    set r-maximo (r-maximo / 100) 
    set s-minimo (s-minimo / 100) 
    set r-proposto (r-proposto / 100) 
    set s-esperado (s-esperado / 100) 
    set r-efetivo (r-efetivo / 100) 
    set a-graticacao (a-graticacao / 100) 
    set b-gratidao (b-gratidao / 100) 
    set c-remorso (c-remorso / 100) 
    set d-raiva (d-raiva / 100) 
    set color magenta 
    set troca-falha 0 
    set tipo 1 
  ] 
  [...] 
  ] 
  set cromossomo matrix:from-row-list 
  [...] 
   set    fit-com-rac2 (1 - 500) 
   set    fit-com-alt2 (1 - 500) 
   set    fit-com-altfra2 (1 - 500) 
   set    fit-com-ego2 (1 - 500) 
   set    fit-com-egofra2 (1 - 500) 
   set    contador-estavel 0 
   layout-circle agentes 15 
   ask agentes 
  [ 
    ifelse (r-efetivo >= r-proposto) 
    [ 
      ifelse ((r-proposto + 0.05) < 1) 
      [ 
        set s-efetivo (r-proposto + 0.05) 
      ] 
      [ 
        set s-efetivo 1 
      ] 
    ] 
    [ 
      ifelse ((r-proposto - 0.05) > 0) 
      [ 
        set s-efetivo (r-proposto - 0.05) 
      ] 
      [ 
        set s-efetivo 0 



      ] 
    ] 
    set fitness-anterior -999 
    set vetor-de-probabilidade (list ...) 
    set  trocasF0 0 
    set  trocasF1 0 
    set  trocasF2 0 
    set numeroAltru 0 
    set numeroAltruF 0 
    set numeroEgo 0 
    set numeroEgoF 0 
    set numeroReal 0 
    set numeroQualquer 0 
     
    create-links-with other agentes 
  ] 
  ask links 
  [ 
    set color red 
  ] 
  arrangelinks 
  ;display 
  reset-ticks 
end 
 
 
to arrangelinks 
  ask links  
  [ 
    let id-menor 0 
    ask end1 [ set id-menor who ] 
    set Menor id-menor 
     
  ] 
end 
 
to trocando [ende1 ende2 coloreca]  
  let id1 0 
  ask  ende1 [set id1 who] 
  ask  ende1 
  [ 
    let proposto1 r-proposto 
    ask  ende2 
    [ 
      let esperado s-esperado 
      if proposto1 >= esperado 
      [ 
        ask  ende2 
        [ 
          ask link-with ende1 
          [ 
            if color = yellow 
            [ 
              set color lime 
              set troca-completa 1 
              set meia-troca 0 
            ] 
            if color = red 
            [ 
              set color yellow 
              set meia-troca 1 



            ] 
            if id1 = Menor [set A (proposto1 - esperado)] 
            if id1 != Menor [set B (proposto1 - esperado)] 
          ] 
        ] 
 
      ] 
      if proposto1 < esperado 
      [ 
 
        ask  ende2 
        [ 
          ask link-with ende1 
          [ 
 
            if id1 = Menor [set A (proposto1 - esperado)] 
            if id1 != Menor [set B (proposto1 - esperado)] 
            ask ende1[ 
              set troca-falha troca-falha + 1 
 
              ] 
          ] 
        ] 
      ] 
    ] 
  ] 
end 
 
to func-payoff-suposto [ r-ij-prop s-ij-esp r-ji-prop s-ji-esp r-i-max 
r-j-max s-i-min s-j-min ende1 ende2] 
  if (((r-ij-prop <= r-i-max)and(s-ji-esp >= s-j-min))and((r-ji-prop 
<= r-j-max)and(s-ij-esp >= s-i-min))) 
  [ 
    ask ende1 
    [ 
      ask link-with ende2 
      [ 
        set payoff-suposto ((1 - r-ij-prop + s-ij-esp) / 2) 
      ] 
    ] 
  ] 
  if (((r-ij-prop <= r-i-max)and(s-ji-esp >= s-j-min))and((r-ji-prop > 
r-j-max)or(s-ij-esp < s-i-min))) 
  [ 
    ask ende1 
    [ 
      ask link-with ende2 
      [ 
        set payoff-suposto ((1 - r-ij-prop) / 2) 
      ] 
    ] 
  ] 
  if (((r-ij-prop > r-i-max)or(s-ji-esp < s-j-min))and((r-ji-prop > r-
j-max)or(s-ij-esp < s-i-min))) 
  [ 
    ask ende1 
    [ 
      ask link-with ende2 
      [ 
        set payoff-suposto 0 
      ] 



    ] 
  ] 
end 
to func-payoff-efetivo [ r-ij-efet s-ij-efet r-ji-efet s-ji-efet r-i-
max r-j-max s-i-min s-j-min ende1 ende2] 
  if (((r-ij-efet <= r-i-max) and (s-ji-efet >= s-j-min)) and ((r-ji-
efet <= r-j-max) and (s-ij-efet >= s-i-min))) 
  [ 
    ask ende1 
    [ 
      ask link-with ende2 
      [ 
        set payoff-efetivo ((1 - r-ij-efet + s-ij-efet) / 2) 
      ] 
    ] 
  ] 
  if (((r-ij-efet <= r-i-max) and (s-ji-efet >= s-j-min)) and ((r-ji-
efet > r-j-max) or (s-ij-efet < s-i-min))) 
  [ 
    ask ende1 
    [ 
      ask link-with ende2 
      [ 
        set payoff-efetivo ((1 - r-ij-efet) / 2) 
      ] 
    ] 
  ] 
  if (((r-ij-efet > r-i-max) or (s-ji-efet < s-j-min)) and  ((r-ji-
efet > r-j-max) or (s-ij-efet < s-i-min))) 
  [ 
    ask ende1 
    [ 
      ask link-with ende2 
      [ 
        set payoff-efetivo 0 
      ] 
    ] 
  ] 
end 
 
to conta 
 let id-agentee 0 
  set numeroAltru 0 
  set numeroAltruF 0 
  set numeroEgo 0 
  set numeroEgoF 0 
  set numeroReal 0 
  set numeroQualquer 0 
    repeat total-agentes 
    [ 
      ask agente id-agentee [ 
 
       ifelse (r-maximo >= 0.86 ) and (r-maximo <= 1) and ( s-minimo  
>= 0.51) and ( s-minimo  <= 0.55) 
        [ 
          set numeroAltru (numeroAltru + 1) 
          contarOqueEra  id-agentee tipo 1 
          ] 
        [ ifelse (r-maximo >= 0.76 ) and (r-maximo <= 0.85) and ( s-
minimo  >= 0.56) and ( s-minimo  <= 0.65) 
        [ 



          set numeroAltruF (numeroAltruF + 1) 
          contarOqueEra  id-agentee tipo 2 
 
          ] 
        [ifelse (r-maximo >= 0.66) and (r-maximo <= 0.75) and ( s-
minimo  >= 0.66) and ( s-minimo  <= 0.75) 
        [ 
          set numeroEgoF (numeroEgoF + 1) 
          contarOqueEra  id-agentee tipo 4 
          ] 
        [ifelse (r-maximo >= 0.56 ) and (r-maximo <= 0.65) and ( s-
minimo  >= 0.76) and ( s-minimo  <= 0.85) 
        [ 
          set numeroEgo (numeroEgo + 1) 
          contarOqueEra  id-agentee tipo 3 
         ] 
        [ ifelse (r-maximo >= 0.45 ) and (r-maximo <= 0.55) and ( s-
minimo  >= 0.45) and ( s-minimo  <= 0.50) 
        [ 
          ;racional 
          set numeroReal (numeroReal + 1) 
          contarOqueEra  id-agentee tipo 5 
          ] 
        [ 
          set numeroQualquer (numeroQualquer + 1) 
          contarOqueEra  id-agentee tipo 6 
          ] 
      ] 
      ] 
      ] 
      ] 
        ] 
 
       set id-agentee (id-agentee + 1) 
    ] 
end 
 
to payoff [end11 end22] 
  let linke 0 
  ask end11 
  [ 
    let r-ij-prop r-proposto 
    let s-ij-esp  s-esperado 
    let r-i-max r-maximo 
    let s-i-min s-minimo 
    let r-ij-efet r-efetivo 
    let s-ij-efet s-efetivo 
    ask end22 
    [ 
      let r-ji-prop r-proposto 
      let s-ji-esp s-esperado 
      let r-j-max r-maximo 
      let s-j-min s-minimo 
      let r-ji-efet r-efetivo 
      let s-ji-efet s-efetivo 
      ask link-with end11 
      [ 
         
        func-payoff-suposto r-ij-prop s-ij-esp r-ji-prop s-ji-esp r-i-
max r-j-max s-i-min s-j-min end11 end22 



        func-payoff-efetivo r-ij-efet s-ij-efet r-ji-efet s-ji-efet r-
i-max r-j-max s-i-min s-j-min end11 end22 
      ] 
    ] 
  ] 
end 
 
to saiciclo 
  let A1 0 
  let A2 0 
  let A3 0 
  let A4 0 
  let A5 0 
  set A1   (fit-com-rac - fit-com-rac2) 
  set A2   (fit-com-alt - fit-com-alt2) 
  set A3   (fit-com-altfra - fit-com-altfra2) 
  set A4   (fit-com-ego - fit-com-ego2) 
  set A5   (fit-com-egofra - fit-com-egofra2) 
  [ 
  set contador-estavel (contador-estavel + 1) 
    ] 
  [ 
    set contador-estavel 0 
    ] 
end 
 
to go 
  no-display 
  set counter-ciclos 0 
  let id-agente 0 
  while [ciclos >= counter-ciclos] [ 
        ask Links 
    [    
      set color red 
      set colere color 
    ] 
    set trocas0 0 
    set trocas1 0 
    set trocas2 0 
    show "Ciclo" 
    show counter-ciclos 
    set id-agente 0 
    repeat total-agentes 
    [ 
      ask agente id-agente[ 
        set troca-falha 0 
        ] 
 
      set id-agente (id-agente + 1) 
    ] 
    ask Links 
    [     
      set color red 
      let colere color 
       trocando end1 end2 colere 
       trocando end2 end1 colere 
       payoff end1 end2 
       if color = red 
        [ 
          set trocas0 (trocas0 + 1) 
        ] 



        if color = yellow 
        [ 
          set trocas1 (trocas1 + 1) 
        ] 
        if color = lime 
        [ 
          set trocas2 (trocas2 + 1) 
        ] 
    ] 
 
    set id-agente 0 
    repeat total-agentes 
    [ 
      somatorio-de-payoffs-sem id-agente 
      calc-fitness id-agente 
      set id-agente (id-agente + 1) 
    ] 
 
    set id-agente 0 
    repeat total-agentes 
    [ 
      ask agente id-agente 
      [ 
 
      calc-fator-diver id-agente 
       
if ( somatorio > fator-de-divergencia ) 
      [ 
        calc-fitness-emo id-agente 
      ] 
      set id-agente (id-agente + 1) 
      ] 
    ] 
 
    if altruistas != 0 
    [ 
      set fit-sem-alt (fit-sem-alt / altruistas) 
      set fit-com-alt (fit-com-alt / altruistas) 
    ] 
    if altruista-fraco != 0 
    [ 
 
      set fit-sem-altfra (fit-sem-altfra / altruista-fraco) 
      set fit-com-altfra (fit-com-altfra / altruista-fraco) 
    ] 
    if egoista  != 0 
    [ 
      set fit-sem-ego (fit-sem-ego / egoista) 
      set fit-com-ego (fit-com-ego / egoista) 
    ] 
    if egoista-fraco != 0 
    [ 
      set fit-sem-egofra (fit-sem-egofra / egoista-fraco) 
      set fit-com-egofra (fit-com-egofra / egoista-fraco) 
    ] 
    if racional != 0 
    [ 
      set fit-sem-rac (fit-sem-rac / racional) 
      set fit-com-rac (fit-com-rac / racional) 
    ] 
 



    media-payoff 
    set id-agente 0 
    repeat total-agentes 
    [ 
      novo-novo-fitness id-agente 
      set id-agente (id-agente + 1) 
    ] 
 
    set id-agente 0 
    repeat total-agentes 
    [ 
      atualiza-fitness id-agente 
      set id-agente (id-agente + 1) 
    ] 
 
    set id-agente 0 
    repeat total-agentes 
    [ 
      select-evo id-agente 
      set id-agente (id-agente + 1) 
 
    ] 
    set id-agente 0 
    repeat total-agentes 
     [ 
      ask agente id-agente 
      [ 
 
        set troca-falha 0 
      ] 
    ] 
    set trocasF0 (trocasF0 + trocas0) 
    set trocasF1 (trocasF1 + trocas1) 
    set trocasF2 (trocasF2 + trocas2) 
    set counter-ciclos (counter-ciclos + 1) 
    tick 
         saiciclo 
        set    fit-com-rac2 fit-com-rac 
        set    fit-com-alt2 fit-com-alt 
        set    fit-com-altfra2 fit-com-altfra 
        set    fit-com-ego2 fit-com-ego 
        set    fit-com-egofra2 fit-com-egofra 
       if contador-estavel > numero-de-ciclos-estaveis 
        [ 
          stop 
        ] 
        if ciclos < counter-ciclos 
        [ 
          stop 
          ] 
     tick 
    ] 
end 
 
to media-payoff 
  set payoff-geral (payoff-geral / total-agentes ) 
end 
 
to novo-novo-fitness[id-agente] 
  ask agente id-agente [ 
     



    let repu (xi-efet / total-agentes ) 
    if ( somatorio > fator-de-divergencia ) [ 
    if (repu  >= payoff-geral) 
    [ 
      set fitness-novo (fitness-emo  + (repu  * (Porcentagemderep / 
100)) ) 
 
      ] 
    if (repu  < payoff-geral) 
    [ 
      set fitness-novo ( fitness-emo - (repu  * (Porcentagemderep / 
100)) ) 
      ] 
    ] 
    if ( somatorio < fator-de-divergencia ) [ 
       if (repu  >= payoff-geral) 
    [ 
      set fitness-novo (fitness  + (repu  * (Porcentagemderep / 100)) 
) 
      ] 
    if (repu  < payoff-geral) 
    [ 
      set fitness-novo ( fitness - (repu  * (Porcentagemderep / 100)) 
) 
      ] 
    ] 
 
    ] 
end 
 
to atualiza-fitness [ id-agente ] 
   ask agente id-agente 
  [ 
    if (fitness-anterior > -999) 
    [ 
      if (fitness-novo >= fitness-anterior) 
      [ 
         evoluir-prob id-agente prob-anterior 1 
      ] 
      if (fitness-novo < fitness-anterior) 
      [ 
         evoluir-prob id-agente prob-anterior 2 
      ] 
 
    ] 
    set fitness-anterior fitness-novo 
  ] 
 end 
 
to somatorio-de-payoffs-sem [ id-agente ] 
  ask agente id-agente 
  [ 
    let id-outro 0 
    let somatorio-poe 0 
    let somatorio-pos 0 
    let ok 0 
    repeat total-agentes 
    [ 
      if id-agente != id-outro 
      [ 
        ask link-with agente id-outro 



        [ 
          if troca-completa = 1 
          [ 
            set somatorio-poe (somatorio-poe + payoff-efetivo) 
            set somatorio-pos (somatorio-pos + payoff-suposto) 
           set ok 1 
          ] 
        ] 
        if ok = 1 
        [ 
          set quantos-sucessos (quantos-sucessos + 1) 
          set ok 0 
        ] 
      ] 
      set id-outro (id-outro + 1) 
    ] 
 
    set xi-efet somatorio-poe 
    set xi-sup somatorio-pos 
    set  payoff-geral ( payoff-geral + xi-efet) 
  ] 
end 
 
  ask agente id-agente 
  [ 
    set fitness xi-efet  
     
    if color = magenta  
      [ 
        set fit-sem-alt (fit-sem-alt + fitness) 
      ] 
    if color = pink  
      [ 
        set fit-sem-altfra (fit-sem-altfra + fitness) 
      ] 
    if color = blue  
      [ 
        set fit-sem-ego (fit-sem-ego + fitness) 
      ] 
    if color = cyan  
      [ 
        set fit-sem-egofra (fit-sem-egofra + fitness) 
      ] 
    if color = grey  
      [ 
        set fit-sem-rac (fit-sem-rac + fitness) 
      ] 
 
  ] 
end 
 
to calc-fator-diver [ id-agente ] 
  let id-outro 0 
  let xi 0 
  let xj 0 
  let difer 0 
  set somatorio 0 
  ask agente id-agente 
  [ 
    set xi xi-efet 
    repeat total-agentes 



    [ 
      if id-agente != id-outro 
      [ 
        ask agente id-outro 
        [ 
          set xj xi-efet 
          set difer (xi - xj) 
          if difer < 0 
          [ 
            set difer (- difer) 
          ] 
          set somatorio (somatorio + difer) 
        ] 
      ] 
      set id-outro (id-outro + 1) 
    ] 
    set di (somatorio / (total-agentes - 1)) 
   ; 
  ] 
end 
 
 
 
to calc-fitness-emo [ id-agente ] 
  
  ask agente id-agente 
  [ 
    let id-outro 0 
    let xi-es 0 
    let xi-se 0 
    let somatorio-xj-es 0 
    let somatorio-xj-se 0 
    let xi-efet-agente xi-efet 
    let xi-sup-agente xi-sup 
    let xj-efet-agente 0 
    let xj-sup-agente 0 
    if ((xi-efet-agente - xi-sup-agente) > 0) 
    [ 
      set xi-es (xi-efet-agente - xi-sup-agente) 
    ] 
    if ((xi-sup-agente - xi-efet-agente) > 0) 
    [ 
      set xi-se (xi-sup-agente - xi-efet-agente) 
    ] 
    repeat total-agentes 
    [ 
      if id-agente != id-outro 
      [ 
        ask agente id-outro 
        [ 
          set xj-efet-agente xi-efet 
          set xj-sup-agente xi-sup 
        ] 
 
        if ((xj-efet-agente - xj-sup-agente) > 0) 
        [ 
          set somatorio-xj-es (somatorio-xj-es + (xj-efet-agente - xj-
sup-agente)) 
        ] 
        if ((xj-sup-agente - xj-efet-agente) > 0) 
        [ 



          set somatorio-xj-se (somatorio-xj-se + (xj-sup-agente - xj-
efet-agente)) 
        ] 
      ] 
      set id-outro (id-outro + 1) 
    ] 
    ifelse (di > fator-de-divergencia) 
    [ 
      set fitness-emo (xi-efet 
        + ((a-graticacao / (total-agentes - 1)) * somatorio-xj-es) 
        + ((b-gratidao / (total-agentes - 1) * xi-es)) 
        - ((c-remorso / (total-agentes - 1)) * somatorio-xj-se) 
        - ((d-raiva / (total-agentes - 1)) * xi-se)) 
    ] 
    [ 
      set fitness-emo xi-efet 
    ] 
    if color = magenta 
    [ 
      set fit-com-alt (fit-com-alt + fitness-emo) 
    ] 
    if color = pink  
    [ 
      set fit-com-altfra (fit-com-altfra + fitness-emo) 
    ] 
    if color = blue  
    [ 
      set fit-com-ego (fit-com-ego + fitness-emo) 
    ] 
    if color = cyan  
    [ 
      set fit-com-egofra (fit-com-egofra + fitness-emo) 
    ] 
    if color = grey  
    [ 
      set fit-com-rac (fit-com-rac + fitness-emo) 
    ] 
  ] 
end 
 
to select-evo [ id-agente ] 
  let conta-n 0 
  let s1 0 
  let vaiparar 0 
  let randomico random 100000 
  set randomico (randomico / 100000) 
  while [ vaiparar = 0] 
  [ 
    ask agente id-agente 
    [ 
      let s2 item conta-n vetor-de-probabilidade 
      ifelse ((randomico >= s1) and (randomico < (s2 + s1))) 
      [ 
        ;atualiza-vetor id-agente n 
        evoluir-agente id-agente conta-n 
        estabiliza id-agente 
        set prob-anterior conta-n 
        set vaiparar 1 
      ] 
      [ 
        set s1 (s1 + s2) 



        set conta-n (conta-n + 1) 
      ] 
    ] 
    if (conta-n > 242) 
    [ 
      set randomico random 100000 
      set randomico (randomico / 100000) 
      set conta-n  0 
      set s1 0 
    ] 
  ] 
end 
 
to evoluir-agente [id-agente escolha] 
  let tempoM (matrix:get-row cromossomo escolha) 
  let tempA item 0 TempoM 
  let tempB item 1 TempoM 
  let tempC item 2 TempoM 
  let tempD item 3 TempoM 
  let tempE item 4 TempoM 
  ask agente id-agente[ 
       if tempA = 1 
    [ 
      let temporariaRM r-maximo 
      set temporariaRM ((temporariaRM / 100) * 3) 
      set r-maximo (r-maximo + temporariaRM) 
     ] 
 
    if tempA = 2 
    [ 
      let temporariaRM r-maximo 
      set temporariaRM ((temporariaRM / 100) * 3) 
      set r-maximo (r-maximo - temporariaRM) 
    ] 
    if tempA = 3 
    [ 
      set r-maximo r-maximo 
    ] 
    if tempB = 1 
    [ 
      let temporariaRE r-efetivo 
      set temporariaRE ((temporariaRE / 100) * 2.5) 
      set r-efetivo (r-efetivo + temporariaRE) 
     ] 
    if tempB = 2 
    [ 
      let temporariaRE r-efetivo 
      set temporariaRE ((temporariaRE / 100) * 2.5) 
      set r-efetivo (r-efetivo - temporariaRE) 
   ] 
    if tempC = 1 
    [ 
      let temporariaSM s-minimo 
      set temporariaSM ((temporariaSM / 100) * 3) 
      set s-minimo (s-minimo + temporariaSM) 
    ] 
 
    if tempC = 2 
    [ 
      let temporariaSM s-minimo 
      set temporariaSM ((temporariaSM / 100) * 3) 



      set s-minimo (s-minimo - temporariaSM) 
    ] 
 
  if tempD = 1 
    [ 
      let temporariaRP r-proposto 
      set temporariaRP ((temporariaRP / 100) * 3) 
      set r-proposto (r-proposto + temporariaRP) 
    ] 
 
   if tempD = 2 
    [ 
      let temporariaRP r-proposto 
      set temporariaRP ((temporariaRP / 100) * 3) 
      set r-proposto (r-proposto - temporariaRP) 
    ] 
 
  if tempE = 1 
    [ 
      let temporariaSE s-esperado 
      set temporariaSE ((temporariaSE / 100) * 3) 
      set s-esperado (s-esperado + temporariaSE) 
    ] 
 
    if tempE = 2 
    [ 
      let temporariaSE s-esperado 
      set temporariaSE ((temporariaSE / 100) * 3) 
      set s-esperado (s-esperado - temporariaSE) 
    ] 
  ] 
end 
to estabiliza [ id-agentee ] 
  ask agente id-agentee 
     if r-maximo > 1 
    [ 
      set r-maximo 1 
    ] 
    if r-maximo < 0 
    [ 
      set r-maximo 0 
    ] 
    if r-efetivo > 1 
    [ 
      set r-efetivo 1 
    ] 
    if r-efetivo < 0 
    [ 
      set r-efetivo 0 
    ] 
    if s-minimo > 1 
    [ 
      set s-minimo 1 
    ] 
    if s-minimo < 0 
    [ 
      set s-minimo 0 
    ] 
 
    if s-esperado > 1 
    [ 



      set s-esperado 1 
    ] 
    if s-esperado < 0 
    [ 
      set s-esperado 0 
    ] 
 
    if r-proposto > 1 
    [ 
      set r-proposto 1 
    ] 
    if r-proposto < 0 
    [ 
      set r-proposto 0 
    ] 
   ] 
end 
 
to evoluir-prob[id-agente prob-escolhida sobe-desce] 
  ask agente id-agente [ 
 
      let tempProb item prob-escolhida vetor-de-probabilidade 
      set tempProb ((tempProb / 10 )* 3) 
      let tempProb2 (tempProb / 242) 
      let tempProb3 item prob-escolhida vetor-de-probabilidade 
      let cont 0 
      if sobe-desce = 1 [ 
        set tempProb3 (tempProb3 + tempProb) 
        set vetor-de-probabilidade (replace-item prob-escolhida vetor-
de-probabilidade tempProb3) 
       repeat 243 [ 
        if cont != prob-escolhida 
          [ 
          set tempProb3 item cont vetor-de-probabilidade 
          set tempProb3 (tempProb3 - tempProb2) 
           if tempProb3 < 0 [ 
             set tempProb3 0 
             ] 
          ] 
         set cont (cont + 1) 
         ] 
 
        ] 
      if sobe-desce = 2 [ 
        ;show "desce" 
                set tempProb3 (tempProb3 - tempProb) 
                set vetor-de-probabilidade (replace-item prob-
escolhida vetor-de-probabilidade tempProb3) 
                repeat 243 [ 
                  if cont != prob-escolhida 
                  [ 
                    set tempProb3 item cont vetor-de-probabilidade 
                    set tempProb3 (tempProb3 + tempProb2) 
                  ] 
 
         set cont (cont + 1) 
         ] 
 
        ] 
 
    ] 



  end 
to contarOqueEra [ IdAgente numero1 numero2] 
  display 
  show IDAgente 
  show "Eu era " 
  if numero1 = 1 [ 
    show "Altruistas e virei" 
    ] 
  if numero1 = 2 [ 
    show "Altruista Fraco e virei" 
    ] 
  if numero1 = 3 [ 
   show  "Egoista e virei" 
    ] 
  if numero1 = 4 [ 
    show "egoista fraco e virei" 
    ] 
  if numero1 = 5 [ 
    show "racional e virei" 
    ] 
 
  if numero2 = 1 [ 
    show "Altruistas " 
    ] 
  if numero2 = 2 [ 
    show "Altruista Fraco " 
    ] 
  if numero2 = 3 [ 
   show  "Egoista " 
    ] 
  if numero2 = 4 [ 
    show "egoista fraco " 
    ] 
  if numero2 = 5 [ 
    show "racional" 
    ] 
  if numero2 =  6 [ 
    show "não classificado" 
 
    ] 
 
    type "rmax do agente" type IDAgente type ": " print r-maximo 
    type "refet do agente" type IDAgente type ": " print r-efetivo 
    type "smin do agente" type IDAgente type ": " print s-minimo 
 
end 


















